RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, FL-16092.6

™

"’R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series

Vinyl Horizontal Sliding Window

d

"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E 1996 and Section 1609.1.2.4 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Compconents

Bill of materials & glazing details

OO AWK —

112" MAX. O.A, FRAME WIDTH

=—" 34" MAX. D.L.O. WIDTH ——

63" MAX. O.A. FRAME HEIGHT

55" MAX. D.L.O. HEIGHT

110.0" X 62.0"

33.0" X 54.0"

J i / /
4// 4// 4//
/ / /
|
XOX SHOWN
XXX ALSO APPROVED

W
BRI
2] (1) bl
Om E§ = §
Z.r\ gmN
e I T o
n - s N2
§8$§2§Lm
< c ]
K825 ' a
2 >pm 0H "
205 3| ®
2 i)
588582\ E
[*] ‘5’ [5]
v%ézB{ 0
Eamvnu.ct\u:
82565
330..1: DNS
| [ ﬂlﬂ.ﬂ.m-ﬁ E
2 g{#e 3
£ C T
0 (S
P o
=
0
0
[=]
%)
< |
a2
@
=
N
J | s
X o 0
7] >_-,<at<-'>
) S U
R tl
< O
e G
5 |y €3
o| L
2
g |5 ~E
x© < o
o a
>
5|m
N
o
N
~ |\
ul =
N o
o2
s @
| |x
il
i2
Q
a
=
0
L
N
<
—lo
=
DATE: 12/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16092.6

SHEET 1 oOF 6

© 2012 R.W. BUILDING CONSULTANTS INE.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 167%\Horizontal Slider\FL-16092.1- 6.dwg, 2.6

D

e
[X)
N\

CPE

/1 "\ HORIZONTAL CROSS SECTION

\y Shown w{ 2X buck

4 /
Va ' g//
= X X
j i
Vi Vi
i q ’i’
D
1-1/4" MIN.
EMB. {TYP.)
\d 3 15
INTERIOR
(E—
]
5 ? D e
4
EXTERIOR
16 5 G1

/"2 "\ HORIZONTAL CROSS SECTION

\2/

1-1/4" MIN.
EMB. [TYP.)

G1

I/
L4

/4 "\ HORIZONTAL CROSS SECTION

\y Shown w/ 1X buck

1-1/4" MIN,
EMB. (TYP.)

G1

813.659.9197

Fiorido Boord of Professional Engineers

P.0. Box 230 Vakrico FL. 33595
Certificate Of Authorization No. 9813

BUILDING CONSULTANTS, INC,

Documents Prepared By
thone No.:

L7522 ize
Lynden F. Schmidt, P.E. No. 43409

/]
[/

7”3\ HORIZONTAL CROSS SECTION

\y Shown direct to masonry

2
o] o
L) ==
<
o —Q
) 50
[ Sl Yo
[ T e
o n 90
oo ] I
.a < D
= x
§ o
S k
a F
n
Yo
)
S| o
g 8
Ll |»
ol =
=
G| lx
=
7]
o]
&)
)
)
<
m
Ll
=
Nz
[
—lo
=
OATE: 12 /05/12
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-16092.6

SHEET 2 oF 6

© 2012 R.W. BUILDING CONSULTANTS NG,



ON| SANVLTINSENOD SNIGTING "M'd 2L 0OZ @

60YCH ON A'd WIS Jd Wopukl SNOISIATH
2Th s g sl || <]
f L a6"Ton Tonbmfouwny 30 810ouRIeD S37 SIONVI4 DUINSOD aav) £1/%0/% | L ||| jw| I -
sisauBuy {DUOISSE01d 4O PIDOE LPLOLY CATEW3SSY HO Luvd % i ~ . 9|0
LBLE659°CLE UON Bduoyd <|Z g © 3_
SEGET 14 O2MIDA OCZ Xeg "O'd \Svg ™ gl
"ONI "SLINYLINSNOD ONIGUNE S31¥4S 0088 EITME ™ m
:Ag peJbdedd SipuswWNnoog :LoNA0dd W SI1E|5|5 %
- {"dAL) "aw3
{dAL) "aw3 L "NIW P/ 1-L
NIW S 1L = - - o
o o D)@~ - )= (=
Ny~ Ny ]
(/ d — L ad ™~ - G m m -
] = = = P, =
R zl o = L
S = : " =
R da m o K U @ m NI
9 v H vy [ m
: e Pyl il
v . * . b CN S a | D
.. \ r o] bnw e / S Q| E
=] ] ..w L 4 ol O
v c - v C ...LH
D = -l ..vAI v e k| &
A = — - t A -m
’ O W . 0 U|o
v LEXK -Tl.l -~ \d - . n <
] 2 S G
N D / m .m D 1 L. m w
< oa — v [%F] G!F - v. v . > m
s @ S
0’ fatd
i =
& i o~
[¥1] ~0 o -
- 0 ] un
°
c
C 24
= . meu.
23
o= mﬂw
/] -
{'dAL) "awa -
- . (dAl) "ew3 ‘NIW.#/1-L
NIW . #/1-1 —
L (@)(=)(~ (=) (E)Ww)(=
r
_ = . ‘
, Z b,
.-.‘ ’ 9. ’ m
q eA.‘,. 4. \ / = — ‘v ’ l—lﬂ
v “ ()
. Ly
v * -3 L3 - L]
o e \ / ﬁ v .q 4 A\SU
. > 5 Qs
. = [— [— _ Gla
_HM 4 . ¥ C >
LT i B
— . =5
L iy >
C_/ | 3k
_— v vy
ja”a
o
i —le
H
0|
D@ ® 0 e
w© -0 uw

9°¢ 'BMP'9-T'Z609T-T4\WBPIS [EIUOZLUOHNGLST 4dV00LT - TOIT foid\siaplod alold\safond - vy



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 167\ Horizontal Slider\FL-16092.1-.6.dwg, 4.6

MEETING STIEE
2" "

— . Y.} 4 e
T ey {
Tt — I = I I
B | l }
S | N Y
N ! v E
PESA L [ {TYp.)

il | | i

o | || I
BUCK K K
MASONRY s | | | |
OPENING I | |
il I || oy
| || N
] [ [ <o
e | | &
|| || Y
e H H
A L N = = - i
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain
fhe min. edge distance fo mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted fo maintain the min. edge
disfance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw /4" 1-1/4°

ELCO /4 1-1/4" ™ 4

FRAME

2X BUCK
MASONRY
OPENING

ol e g MEETING STILE - 2
. 5 5 (TYP.}
e (TYP) {TYp.) 65"
Lt '_,_--__:_";.-' L ‘ / {TYP.)
4 ,‘ . { —
o *ﬁ = ]
o ty T
4
EN 3
== | (TYP.@ HEAD) | |
N [ [
_ (G)axsuck || (F)2xsuck I s
w
—\ 1x BuCK || 1X BUCK || X BUCK g
prectio | =< prect1o | &
MASONRY | | MASONRY b 1X BUCK S
(TYP.@ || (VF. @ F DIRECT 10 &
JAMB} | HEAD) B MASONRY 7
Ry ¥ |
== X g
Rl | H 5 |
=3 ll- A |
- I I I I
e L.
. “4 o -.’
. (TYP) 7.5 (TYP)
FRAME ANCHORING

2 5 Jg
D 8 w9
¢m g N
> -U,IDNV'
= @ .
.gmu.}.\o
[ - o z
Eo? g2 .
2245 ul
552 o0
T B A
Zow B i T
588 a2 E
(i3 i .= o
.gtznéz 5 & v
Eﬁ,"c"&b‘ uw
n.—ooo e
£ 2M<c &g £
n_mn.u_m:a’ _E
[ TE X
5 5 G
£ oo
=1
Q
[+
=]
)
=
75} [
Ly o0
e =L
L} S:{U
w0 - =
o] x<C
(=] = ©
[ ol o>
aQ w M=
el g <
o
. L
5 tr
2 (o}
I
o 0.
21>
it 73
0
o v
Z| =
9 o
~ |»
ol B
ol 1€l
=
wn
et
O
D
)
<
”
L
NE
bD
~jo
=
DATE: 12/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FI.—16092.6
SHEET _4 oF _6

© 2012 R.W. BUILDING CONSULTANTS NG .



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 5.6

2.04"

| .

- 142" —]
O]
4

( : ) KEEPER STILE

0.06"

T 1.24"

BB L

—-—l I—-—O.I?"

. REINFORCEMENT
Common Rail

0.07"

( : ) GLAZING BEAD

o
(: :) REINFORCEMENT
Lock Stile

' 19"
%——_é

e 179 —]

( : ) LOCK STHE

e 1,42" —=r]

gy

1<- 0.45"
0.08"

T

@ SLIDER COMMON RAIL

. REINFORCEMENT
Keeper and Pull Stile

2,46

( : )FRAME

1.25"

-

—— g/i e ().24"

3.92"
fi 0.08"
D
20 0s 20

2.24

0.34"

C 7

L._ 1.35" A>|
(: : ) SILL TRACK
Fult width

C

7

|
|

0.61"

@ SLIDER SASH RETAINING CLIP

0.07" —-| '——

o il n il
! I i i
o ;H‘ ! i
H \ il Al
oY | E)
(N B

W
\~ﬂﬂ H H il
:1 1t i
| | S _d!

L

f ]
i
i
=
Iul
Ul

AF59 [Masonry Flange 1)

o

V672 [Masonry Flange 2)

ALY S 2z..p

B13.659.9197
Lyrndoen F. Schridt, P.E. No. 43408

Florida Board of Professional Engineers

P.0. Box 230 Vairico FL. 33585
Certificate Of Autho;ization Noc. 8813

Documents Prepared By:

BUILDING CONSULTANTS, INC.

Phone No.:

OPTIONAL COSMETIC FLANGES

£ oy P}

).)

pa— .

-— (.3"
S

- 1.16" -

o

HEAD TRACK

t
1%

—= 037"

*—J (~— 0.09"

— Q.67"

. FLANKER STOP

1,21 o]

D
& =
g i
5 |y 2
3 g
s |3 =
Led
v 8] 7)) )
© i ©
<L
[ o
§ o
o k
[V <L
[+ 8 o
€3]
>_
o [ca)
7
V]
gl |2
%o
Ll
o B
[
=
193]
o)
3]
]
[ ]
q:
m
=
S
A2
~lo
Z
bate: 12/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-16092.6

SHEET 5 oF 8

@ 20712 R.W. BUILDING CONSULTANTS INC,



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Sliden\FL-16092.1-.6.dwg, 6.6

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1X BUCK SG >=0.42 wOOD
B 2X BUCK SG >=0.42 WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F #10 X 3" PPH WOOD SCREW STEEL
G #10 X 1-3/4" PPH WOOD SCREW STEEL
H #10 X 2-1/2' PPH WOOD SCREW STEEL
J 1/4"' X 2-1/4" ITW CONCRETE SCREW STEEL
K 1/4' X 3-1/4"ITW CONCRETE SCREW STEEL
L 1/4" X 3-3/4" ITW CONCRETE SCREW STEEL
] FRAME* PVC
2 SLIDER PULL STILE* PVC
3 LOCK STILE* PVC
4 KEEPER STILE* PYC
S GLAZING BEAD* PVC
6 SLIDER COMMON RAIL* PVC
7 BALL BEARING ROLLER -

8 WEATHERSTRIP (0.230") -

9 WEATHERSTRIP (0.380") -

11 SILL TRACK ALUM
12 HEAD TRACK ALUM
14 SLIDE RAIL REINFORCEMENT ALUM
15 REINFORCEMENT ALUM
16 REINFORCEMENT ALUM
17 SLIDER SASH RETAINING CLIP ALUM
18 #8 X 1" PFH SM§ STEEL
19 FLANKER STOP NYLON
22 #8 X 5/8" (#6 head) PFH SM$S STEEL

* THE APPROVED WHITE RIGID FVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVYC EXTRUSIONS".

1/2' GLASS
BITE

/i

|

7

NOVAFLEX M400

— 1" THICK GLASS

1/8" ANNEALED
0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED
AIR SPACE

1/8" ANNEALED

INTERCEPT SPACER

C:) GLAZING DETAIL

¥ /3

Lyndon F. Schmidt, P.E. No. 43409

g
& "
. Q
g3 .55:)‘?
Z_ha’m
P A TR W
wwe " g
Ea® 3z
<.QU)C
W0
Jpge g8
A7m 48
Zop B Y
. O - Q
O L
n%ZoN
2 £ o
LN U g o
2355380
EDQ&O@;
G_cna.n.mg
2 gg‘é
ol T F
P g a
L
3
Q
Q
fa]

8800 SERIES
BILL OF MATERIALS

& GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

LFS
Y

4/04/13 IADD COSMETIC FLANGES

1

REVISIONS

o
<
a
o
z
2z

DaTE: 12/05/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL--16092.6

SHEET 6 oF 6

© 2012 R.W. BUHLDING CONSULTANTS ING.



